
Serial No.

Checked By:

     Tech

     Date

Box 1 - RDP154 Wt:  27 lbs.  Dim:  18"x 20"x 12"

Part No. Description Quantity Yes Remarks

1 RDP154 Color LCD Display 1

2 001-026-450 Mounting Knob 2

3 001-304-010-00 Mounting Bracket 1

4 100-385-852-10 Hard Cover 1

5 000-155-826 Fuse FGBO 10A 2 SP03-17701

6 000-162-608 Tapping Screw 5X20 4 CP03-35601

7 100-360-671-10 LCD Cleaning Cloth 1 FP03-12301

8 000-157-995 Power Cable Assy 5M 10A 1

9 OME-363-20Z Operator's Manual 1

10 IME-363-20Z Installation Manual 1

11 MLG-363-20Z Operator's Guide 1

12 C32-013-08A Flush Mounting Template 1

13 MDC-363-20Z Environmental Data Sheet 1

Box 2 - RSB0070-087A Wt:  52 lbs.  Dim:  17"x 21"x 18"

Part No. Description Quantity Yes Remarks

1 RSB0070-087A Gearbox 25KW 1

2 300-130-020 Seal Washer 4 CP03-33801

3 100-275-580 Corrosion Proof Mat 256mm sq 1 "

4 100-327-760 Packing Support 1 "

5 000-515-332 Plastic Grey "Button" Cap 4 "

6 000-864-132 Flat Washer M12 4 "

7 000-863-112 Hex Nut M12 4 "

8 000-864-263 Spring Washer M12 4 "

9 000-862-191 Hex Bolt M12x60 4 "

10 000-881-448 Washer Head Screw M4x15 2 "

11 000-864-260 Spring Washer M6 1 "

12 000-864-129 Flat Washer M6 3 "

13 000-863-109 Hex Nut M6 1 "

14 000-862-180 Hex Bolt M6x25 1 "

15 000-141-084 EMI Core RFC13 1 "

16 000-146-570 EMI Core RFC-H13 1 "

17 000-566-000 Grounding Cable (340mm) 1 "

Box 3 - 000-152-867 Wt:  13 lbs.  Dim:  17"x 17"x 5"

Part No. Description Quantity Yes Remarks

1 000-152-867 Signal Cable Assy 15M 1

For Internal Use Only

PACKING LIST FOR FR8255

RDP154

000-152-867

RSB0070-087A

Page 1 of 2



Serial No.

Checked By:

     Tech

     Date

Box 4 - PSU008 Wt:  14 lbs.  Dim:  14"x 10"x 16"

Part No. Description Quantity Yes Remarks

1 PSU008 Antenna Power Supply Unit 1

2 000-152-217 Power Cable Assy 5M 1

3 000-152-939 Antenna Cable Assy 5M 1

4 000-155-831 Fuse FGBO 7A 3 SP03-14501

5 000-157-874 Fuse FGBO 15A 3 "

6 000-153-879 2 Pin XH Pigtail 1 CP03-30601

7 000-162-608 Tapping Screw M5x20 4 "

8 C32-005-05Z Internal DIP SW Settings Guide 1

9 C32-005-02Z Change of Fuse Notice 1

Rev 9/14

PACKING LIST FOR FR8255

PSU008

For Internal Use Only

Page 2 of 2


